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Gap

N B} BEH a1,as,...,ay BETFIHFRER0<a; <ay <--- <ay <108, Jeehak 18
ENEE i NEEA1BIN - 18, ajy1 — a; FEEAIRAE, Jeehak NRRR LA AE EEE
M ANEN , MAEEBE BRI, 55% Implementation 2k 7 2 5 % fl&7,

Task

A2 Bf) Jeehak BF—ERD , SEXNAELEE ¢ WEER 1B N - 16, a1 —a; T8
H&EANIE,

Implementation for C and C++

REZEF—EXRN findGap(T, N) 2 TS EE—(EELREA long long BIEEH !
n T—FEH (Qor2)
= N— REEHNEE

REE L findGap AT AN —{E K MinMax(s, t, &mn, &mx) , HEIZEZ& st 2
BURE long long KIEEEN |, 12 —{EIZE &mn & &mx &$EM long long BEAIERE | BIKK
mn #1 mx ZEI%E long long HUEEEIFEL, & MinMax(s, t, &mn, &mx) REEF , BE mn #
EEBAXNIER s WR/NH a; , MEEH mx WEREBENASIEFR t WRKAM a;, S
AMEBHHEFERAE st 2B (EE s o), Bl mn A mx WEHSES -1, Sl
MinMax B¥ , s B{EARBELL t BRE KR , TR KR LEWEE—EIESE.
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Language: zh TW

Implementation for Pascal

REEEE—EXN findGap(T, N) @ETISHILOE—ELLES Int6ed BIEEH :
m T— F{EF (1 or2) (Integer BUEE)
m N— fGERIHBEE (LongInt BURE

REE L findGap AT LAMEAY—{E X MinMax(s, t, mn, mx) , HEIZEZ& st AE
& Int64 MEH , RTEZBEH mn & mx & Int64 BBZE (reference) , BILZ mn #1 mx &Y
RE Int64 MUEEHFE, & MinMax(s, t, &mn, &mx) EHREF , #H mn WESEAANSEE
R s iR/ a; , TS mx BREREANAHFR t WRKH a;, E@MANEHEBEEAR
EsHteB@EEsH), BlmnFI mx WENRSES -1, EMW MinMax K , s B{ETREE
bt BEXR, FAEXFEKL,

Implementation for all

B%%*%E"EE’\JEXZ% (B5fE, SEREEFRE], RAENTHREFS) , REENEILEEZERITI
23K

» {REIE findGap X EBELEEEEZE,
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n TR MinMax BIENA M NaeiB@FRE (75%F Scoring FIER D).

Example for C, C++

EN=4Ha =2,a2 =3,a3 =6,a4 =8,

FHERA 3, ATF#EMAMU T MinMax 3E5tE , il findGap [ElfE,
m L0 MinMax(1, 2, &mn, &mx) , mn & mx B{EERE A 2.
m 04 MinMax(3, 7, &mn, &mx) , mn BY{EEZA 3 H mx B{EES 6.
m [E0} MinMax(8, 9, &mn, &mx) , mn & mx BY{EERE% 8.

Example for Pascal

EN=4Ba =2,a2 =3,a3 =6,a4 =8,

FHEEEA 3, AT#EMRMW TS MinMax 3ETHE , il findGap [ElfE,
m 04 MinMax(1, 2, mn, mx) , mn % mx B{EEREA 2.
m DEAY MinMax(3, 7, mn, mx) , mnB9{EEZA 3 B mx H{EE% 6.
m 04 MinMax(8, 9, mn, mx) , mn % mx B{EENE A 8.

Scoring
A FEHERRE 2 < N < 100,000,

Subtask 1 (30 points): =R MinMax #§ & M B{EEIN 1, EHRMAERIE ,
M< X RETUEIRESE,

Subtask 2 (70 points): 5 k &M MinMax BF , S AR REFR s B/VRER t BUESL
BRI MinMax R &R M RO(EEIN £+ 1, REMNBIKELITIRANGE | E/FEHS
MESHNERIBA/IRAMEAETR/INOE, HRE—FME , E§ M <3N RK{ReEEE
70 %, BRMRB D BA =2 |

VFH-1
Experimentation

{REI LA RE 2> _#f £ & Sample grader , EAFELUEEMANARNBAEZR, BAE TS
EEEH, FEF T UK N, T—178& N EUAFHETIAES, Sample grader #§E LA
ZAEWmHA A | B findGap FREERELA R EFERM M {8,
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